
S–125–Mathematics (D&D)No. of Questions – 30

No. of Printed Pages – 11

_mÜ`{_H$ (‘yH$-~{Ya) narjm, 2020
SECONDARY (Deaf & Dumb) EXAMINATION, 2020

J{UV
MATHEMATICS

g_` : 4¼ KÊQ>o
nyUmªH$ : 80
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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^r àíZ H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZmo§ ‘| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts
are to be written together in continuity.

S–125–Mathematics (D&D) [ Turn Over

T
E

A
R

 H
E

R
E

 T
O

 O
P

E
N

 T
H

E
 Q

U
E

ST
IO

N
 P

A
P

E
R

Te
ar

 H
er

eRoll No.Zm_m§H$
Sl.No. :

5315

àí
Z 

nÌ
 H

$mo 
I

mob
Zo 

Ho$
 {b

E 
`h

m± \
$m‹S

>|
`h

m± g
o H

$m{
Q>E



2

S–125–Mathematics (D&D) 5315

5) àíZnÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm Ho$
àíZ H$mo hr ghr ‘mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) IÊS>> àíZ g§»¶m A§H$ àË¶oH$ àíZ
A 1 - 10 1

~ 11 - 15 2

g 16 - 25 3

X 26 - 30 6

Section Q. Nos. Marks per question
A 1 - 10 1

B 11 - 15 2

C 16 - 25 3

D 26 - 30 6

7) AnZr CÎma-nwpñVH$m Ho$ n¥ð>m| Ho$ XmoZm| Amoa {b{IE& ¶{X H$moB© a’$ H$m¶© H$aZm hmo, Vmo CÎma-nwpñVH$m Ho$
A§{V‘ n¥ð>m| na H$a| Am¡a BÝh| {VaN>r bmBZm| go  H$mQ>H$a CZ na "a’$ H$m¶©' {bI X|&

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines
and write ‘Rough Work’ on them.

8) àíZ H«$‘m§H$ 26 H$m boIm{MÌ J«m’$ nona na ~ZmBE&

Draw the graph of Question No.26 on graph paper.
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IÊS>> - A

SECTION - A

1) ""gyÌ EH$m{YHo$Z nyd}U'' Ûmam 45 H$m dJ© hmoJm -

(H$) 625 (I) 1225

(J) 2025 (K) 1025

Using “Sutra Ekadhikena Purvena” the square of 45 will be -

(A) 625 (B) 1225

(C) 2025 (D) 1025

2) ¶{X Xmo n[a‘o¶ g§»¶mAm| Ho$ HCF = LCM hmo, Vmo g§»¶mE± hm|Jr -

(H$) ^mÁ¶ (I) g‘mZ

(J) A^mÁ¶ (K) gh^mÁ¶

If HCF = LCM for two rational numbers, then numbers should be -

(A) Composite (B) Equal

(C) Prime (D) Co-prime

3) 8a2b2c Am¡a 18ab3c2 H$m ‘hÎm‘ g‘mnd©H$ (H.C.F.) h¡ -

(H$) 2a2bc (I) 6abc

(J) 2ab2c (K) 12a2b2c2

The H.C.F. of 8a2b2c & 18ab3c2 is -

(A) 2a2bc (B) 6abc

(C) 2ab2c (D) 12a2b2c2

[ Turn Over
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4) tan2 60° H$m ‘mZ h¡ -

(H$) 3 (I)
1
3

(J) 1 (K) 

Value of tan2 60° is -

(A) 3 (B)
1
3

(C) 1 (D) 

5) ~§Q>Z 3, 5, 7, 4, 2, 1, 4, 3, 4 H$m ~hþbH$ h¡ -

(H$) 7 (I) 1

(J) 3 (K) 4

The mode of the distribution 3, 5, 7, 4, 2, 1, 4, 3, 4 is -

(A) 7 (B) 1

(C) 3 (D) 4

6) 2sin45°cos45° H$m ‘mZ kmV H$s{OE&

Find the value of 2sin45°cos45°.
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7) {~ÝXþ (5, 2) H$s x-Aj go Xÿar hmoJr -

(H$) 5 (I) 2

(J) 3 (K) 4

Distance of point (5, 2) from x-axis will be -

(A) 5 (B) 2

(C) 3 (D) 4

8) d¥V H$s g~go ~‹S>r Ordm d¥V H$s H$hbmVr h¡ -

(H$) ì¶mg (I) {ÌÁ¶m

(J) Ho$ÝÐ (K) {~ÝXþ

The longest chord of a circle is known as -

(A) Diameter (B) Radius

(C) Centre (D) Point

9) EH$ {g³Ho$ H$mo EH$ ~ma CN>mbm OmVm h¡, nQ> AmZo H$s àm{¶H$Vm kmV H$s{OE&

A coin is tossed once, find the probability of getting tail.

10) EH$ AÀN>r àH$ma go ’¢$Q>r JB© 52 nÎmm| H$s EH$ JS²>S>r ‘| go EH$ nÎmm {ZH$mbm OmVm h¡, Bg nÎmo Ho$ ~mXemh hmoZo
H$s àm{¶H$Vm kmV H$s{OE&

A card is drawn at random from a well shuffled deck of 52 cards. Find the
probability of its being a King.

[ Turn Over
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IÊS>> - ~

SECTION - B

11) ¶yp³bS> {d^mOZ {d{Y Ûmam 420 Am¡a 130 H$m ‘hÎm‘ g‘mndV©H$ (H.C.F.) kmV H$s{OE&

Find the H.C.F. of 420 & 130 by using Euclid’s Division Method.

12) {~ÝXþ (–6, 7) Am¡a (–1, –5) H$s ‘Ü¶ Xÿar kmV H$s{OE&

Find the distance between the points (–6, 7) and (–1, –5).

13) EH$ 2.5 go‘r. {ÌÁ¶m dmbo d¥V na EH$ ñne© aoIm H$s aMZm H$s{OE&

Draw a tangent to a circle of radius 2.5cm.

14) ~moÕm¶Z à‘o¶ H$mo n[a^m{fV H$s{OE&

Define the Bodhayan theorem.

15) ¶{X EH$ Q>¡³gr H$m {H$am¶m àW‘ {H$bmo‘rQ>a Ho$ {bE 12 ê$n¶o h¡ Am¡a BgHo$ ~mX AmZo dmbo à{V {H$bmo‘rQ>a
Ho$ {bE ¶h {H$am¶m 9 ê$n¶o hmo, Vmo 15 {H$bmo‘rQ>a MbZo Ho$ {bE AmnH$mo {H$VZm {H$am¶m MwH$mZm hmoJm?

Taxi fare of first kilometre is Rs. 12 and after that, for each kilometre is Rs. 9. If a
person travels 15 kilometre, find the fare paid by him?
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IÊS> - g

SECTION - C

16) ^mJ {d{Y go 5184 H$m dJ©‘yb kmV H$s{OE&

Find the square root of 5184 by Division Method.

17) {ÛKmV g‘rH$aU x2–8x+16=0 Ho$ ‘yb kmV H$s{OE&

Find the roots of x2–8x+16=0.

18) g‘mÝVa loUr H$m ¶moJ’$b kmV H$s{OE -

1, 4, 7, 10, ................, 12 nXm| VH$

Find the sum of the Arithmetic progression -

1, 4, 7, 10, ................ upto 12 terms.

19) H$moU 45° Ho$ {bE g^r {ÌH$moU{‘Vr¶ AZwnmVm| Ho$ ‘mZ {b{IE&

Write down the value of all trigonometric ratio for 45°.

20) Cg {~ÝXþ Ho$ {ZX}em§H$ kmV H$s{OE Omo {~ÝXþAm| (–2, 1) Am¡a (5, 4) H$mo {‘bmZo dmbr aoIm H$mo 2:3 Ho$
AZwnmV ‘| AÝV… {d^m{OV H$aVm h¡&

Find the coordinates of that point which divides the line joining the points (–2, 1)
and (5, 4) internally in the ratio 2:3.

[ Turn Over
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21) Xr JB© AmH¥${V ‘| 8 go‘r. bå~mB© H$s EH$ Ordm, d¥V Ho$ Ho$ÝÐ go 3 go‘r. H$s Xÿar na h¡& d¥V H$s {ÌÁ¶m kmV
H$s{OE&

In the given figure, a chord of length 8cm, is at a distance of 3cm, from the centre
of the circle. Find the radius of the circle.

22) {H$gr d¥V Ho$ Ho$ÝÐ go 10 go‘r. Xÿa pñWV {H$gr {~ÝXþ go d¥V na ItMr JB© ñne© aoIm H$s bå~mB© ¶{X 6 go‘r. h¡,
Vmo d¥V H$s {ÌÁ¶m kmV H$s{OE&

The length of a tangent is 6cm drawn from any point, 10cm away from the centre
of the circle, then find the radius of that circle.

r

A B8cm

3cm

C

O

r

A B8cm

3cm

C

O
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23) 6.7 go‘r. bå~mB© Ho$ EH$ aoImIÊS> H$mo 2:3 ‘| {d^m{OV H$s{OE&

Draw a line segment of length 6.7 cm and divide it into the ratio of 2:3 internally.

24) EH$ d¥V Ho$ Mmn H$s bå~mB© 4 go‘r. Am¡a {ÌÁ¶m 6 go‘r. h¡, d¥V Ho$ {ÌÁ¶IÊS> H$m joÌ’$b kmV H$s{OE&

The length of an arc of a circle is 4cm and its radius is 6cm. Find the Area of this
sector of the circle.

25) Xmo nmgm| H$mo EH$ gmW CN>mbm OmVm h¡, BgH$s ³¶m àm{¶H$Vm h¡ {H$ XmoZm| nmgm| H$s g§»¶mAm| H$m ¶moJ 7 h¡?

Two dices are thrown together. What is the probability that sum of two numbers
on the faces is 7?

IÊS>> - X

SECTION - D

26) {ZåZ a¡{IH$ g‘rH$aU ¶w½‘ H$mo Ambo{IV {d{Y go hb H$s{OE&

2x + 3y = 13

5x – 2y = 4

Solve the following pair of linear equations graphically.

2x + 3y = 13

5x – 2y = 4
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27) EH$ ñVå^ Ho$ Cnar {gao H$m CÝZ¶Z H$moU AmYma Vb Ho$ EH$ {~ÝXþ na 60° h¡& ¶{X ¶h {~ÝXþ ñVå^ Ho$ AmYma

go 10 3  ‘rQ>a H$s Xÿar na hmo, Vmo ñVå^ H$s D±$MmB© kmV H$s{OE&

The angle of elevation of the top of a tower from a point on the ground which is

10 3 m. away from the foot of the tower is 60°. Find the height of the tower.

28) ABC Ho$ n[aJV d¥V H$s aMZm H$s{OE, Ohm± AB = 4.6 go‘r., AC=4.2 go‘r. Am¡a A = 90° h¡&

Construct a circumcircle of a ABC, with AB = 4.6cm, AC=4.2cm and A = 90°.

29) ¶{X 11 go‘r. × 3.5 go‘r. × 12 go‘r. ‘mo‘ Ho$ EH$ KZm^ go 2.8 go‘r. ì¶mg H$s EH$ ‘mo‘~Îmr ~ZmB© OmVr
h¡ Vmo ‘mo‘~Îmr H$s bå~mB© kmV H$s{OE&

A candle of diameter 2.8cm is formed from a cubid of dimensions
11cm × 3.5cm × 12cm. Find the length of candle.

30) {ZåZ ~maå~maVm ~§Q>Z H$m g‘mÝVa ‘mÜ¶ kmV H$s{OE -

dJ© 40-44 44-48 48-52 52-56 56-60 60-64

~maå~maVm 5 6 5 9 3 3

Find the Arithmetic mean of the following frequency distribution.

Class 40-44 44-48 48-52 52-56 56-60 60-64

Frequency 5 6 5 9 3 3

AWdm/OR
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{ZåZ ~maå~maVm ~§Q>Z H$m ~hþbH$ kmV H$s{OE -

dJ© 0-10 10-20 20-30 30-40 40-50

~maå~maVm 4 7 13 9 3

Find the mode of the following frequency distribution.

Class 0-10 10-20 20-30 30-40 40-50

Frequency 4 7 13 9 3
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